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Run 6066 quartetwise, posH(O: Beam DH

Run 6066 quartetwise, asymOsub: Beam ON
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Run 6066 quartetwise, negHO: Beam DIN

Positive Hel (ON): 14.970045 +/- 0.003860
Negative Hel (ON): 14.244747 +/- 0.003726
Positive Hel (OFF): 3.123291 +/- 0.002290
Negative Hel (OFF): 3.127541 +/- 0.002282
-------- Sums and Diffs

On Diff: 0.725299 +/- 0.002956

Off Diff: -0.004250 +/- 0.002406
On Sum: 29.214792 +/- 0.006988

Off Sum: 6.250832 +/- 0.003888
-------- Asymmetries
On Asym: 31.584218 +/- 0.129203 (ppt)
Off Asym: -0.185093 +/- -0.104790 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 22.963960 +/- 0.007997
BkSub Asym: 31.769311 +/- 0.166356 (ppt)
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Run 6066 quartetwise, posHO vs time
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Run 6066 guartetwise, asym0Osub vs time
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Run 6066 quartetwise, negHO0 vs time
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Run 6066 quartetwise, bcm vs time
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